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0,25+0,25

JcI.9:.i.\\ .tili..\ .tb. jj.J\ 1.1
.. u u ..J

0,5 .bk...J \ lJS 1.2

0,75 )\ J.J\ 1.3./

0,25 + 0,5 n = O,54mol
I.t

1.4n=-
2.F

0,25 +0,25+ 0,5 n(Iz) = 5,4.10-4mol n(Iz) = CZ,VE ,)\ J.J.l:;J\
2
2.12

0,5 n(Iz) =n(CIO-) = 5,4.10-4mol 2.2

0,25 x3 Co = O,54mol.L-J C = 5,4.1O-zmol.L-1 C = n(CIO-) 2.3
v

0,75 DO(Chl) 12 J \ 2.4

0,5 3
jk...J\ 3.1

0,5 + 0,5 KA =3,16.10-8 K-
3.2

A -
K

1 . . â '1.) ..

(3) I

0,25 + 0,25 \+ 1

0,25 + 0,25 v = 10m.s-1
À 2V=-
T

0,25 + 0,25 't:= 14s
2.À 3.1't:=-
v

0,25 + 0,25 \ My.. 3.2

0,25+ 0,75 oyU:J\ r""'\+ \ 4
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0,25 \ UluJ\ W\ .J+lil 1.1. u.u.

0,25 \ .:.. 1.2U
0,5 ..r.J1 1.3

0,25 + 0,25 C ÛA I lie =3.t 1.4
0,25 + 0,25 Eemax= 0,45J y1\ 1.5

0,25 \ (i) \ :}'J\ yJ\ 2
0,25 \ ('-.J) \ .\ yJ\ 2.1.' . .

0,25 t.a:;j\ \1k.J\ 2.2

0,25x3 À .J B .J A 2.3.1

0,25 + 0,25 L=lH ..;1J\ 2.3.2

0,5 \ ()\ 3.,

(.k9J 5,5) cl...û1.. ..

1
0,75 t.a:;j\ jk.J\ üt.i;\ 1.1.' . ,

0,25 + 0,25 Ta = 3,47s \ 1.2

0,75 TC 1.3
8(t) = -cos(1,8.t)rad

20

0,5 + 1 T 180,8N
v2 1.4

T =m.gcos8+m.-
R

2

0,25 + 0,75 Ep = m.g.f.(1- cos8) + .):JI 2.1

TC
.):J\

2.2
0,25 + 0,75 8max= -rad +

3


